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1) Heating is a form of (cnctgystonge/
2) E, is a form of /encgymnsfet)
3) Ejisaformof ( s / enetgy transfer )
4) Radiating is a form of (cnexynomge/@u)
5C the description by circling the best chaice. E, is...
a way to store energy
way for energy to enter or leave an object
6) Pushing (working) is a form of (metgystonge
a way to store energy |
ny for energy to enter or leave an object

You will ahways begiven these numbérs on tests and quizzes
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7) Your best friend gives you 0.00000044 of gummi How many worms is this?

0.00000 Y4 mol - 26‘:&\0 Wolm

8) The pressure in a certain bike tire is 77.0 Howmnylnlopascals:sdm?

opsi [-V0] kP
o 1) = 524vh

9) What is Standard Pressure in ki
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12) A small silver coin could have 3.06x10™ a silver. How y moles of silver is this?

3.06 "IO “'h"sx I Nﬁ :5.@ Mt{
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13) American pennies contain about 0.0393 ofcoppcr ow many atoms is this?
ogqsml %.02410 oms \ _ 2%”022
ww'/
Match the name with the description of the scientist.
14) K Wrongly thought heat was a fluid called ‘caloric” [Oopsl]

15) Moving objects can create heat; E,,, can freely convert " 2) Rumford
into E,,

16) _E__ Adding salt to -3°C ice melts it to -7°C water (which b) Joule

17) Evidence that temperature isn’t caused by an invisible ) LavGissier
substance: showed the weight of frozen water is the same as weight S
of water when liquid. d) Boyle

18) Evidence that temperature isn’t caused by an invisible - -~
substance: showed that a nearly infinite amount of heat can come ¢) Drebbel

out of a cannon as you grind the metal.

19) For a girl peddling a bike, show arrows with Q, R, and/or W coming in and out
of the circle. Show bar graphs for before and after. A girl peddling a bike.
Initial Energy Flow Final

En Epn Eon En Ep Em

20) A water molecule in a microwave
Initial Energy Flow Final
En Epm E En Epm Een F

T o b::'o'!‘“j

21) At what temperature will 5.00mol of Cl, exert a pressure of 900 torr at a volum¢ of 750
mL?  **fix the units first! m-ch\hemofyour"k‘

PV=n - Jsomb = 0.750 L 4
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mm gas will occupy ayolume of 347 mL at 6.680 kPa and 27°C?




1. What pressure is exerted by 0.693 moles of oxygen in a 5665mL. vessel at 18°C?
ﬁﬂgl Cont
wL T
/
2. Carbon monoxide, a poisonous gas, has a formula of CO. How many moles of carbon
monoxide occupies a volume of 0.445 L at 0°C and 850.torr?

oy, Gt
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3. What volume will 4.54x10™ atoms of helium occupy at 1.05 atm and 25°C?

Cont
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4. What is the pressure of 25.00 moles of methane at 50.0°C if it occupies a volume of 60.0L?

P:L@_'_T_ LSe
\'4

5. AjS.O g'::!-&ample of argon is confined in a 3.1 Livessel. What is the pressure at 115°C.
NRT cant TTYPo! Sfeur)
V2 75 .0 poles

6. What pressure will be exerted by 25 moles of CO; at a temperature of 25°C and a volume of
500 mL?
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1. What pressure is exerted by 0.693 moles of oxygen in a 5665mL vessel gt 182C?
ST TR € 2 ()3
\4 (5.665 L} F 2 Zq 92 4;‘7'\

2. Carbon monoxide, a poisonous gas, has a formula of CO. How many moles of carbon
monoxide occupies a volume of 0.445 L at 0°C and 850.torr?

neD L (2 (ous )
RT @oea‘*) (713 )

. 0.0222 wl

3. What volume will 4.54x10% atoms of helium occupy at 1.05 atm and 25°C?

\J= "RT = (354 (0,082 352 298 )

e (l .080otm)
\Vz 1760 &

4. What is the pressure of 25.00 moles of methane at 50.0°C if it occupies a volume of 60.0L?

A “5T s (25%)@582'“*3(3'23 )
0 )
P: 1.0 atm

5: _?750gramsampleo?f€argonlsco nedilail vessel. is the pressure at 115°C.
P=aRT . ps L__Mﬁ
. (3 P> F3)™

6. What pressure will be exerted by 25 moles of CO, at a temperature of 25°C and a volume of

s me> (25~ Yo. 0621!)(2@
(0.50L)

P= 1200 atm
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